Name: Class: .
— Which metric unit of weight is appropriate? )7
Choose a better estimate for the weight of an average adult man.
62 g 0 62 ke
Choose a better estimate for the weight of house mouse
19,000 mg ] 19,000 g
Choose a better estimate for the weight of a plastic cha
3 kg O:z¢
Choose a better estimate for the weight of a coffee table.
0 165 kg O 65
Choose a better estimate for the weight of a cupcake
80 centigram D 80 gram
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Which metric unit of weight is appropriate? |

a. Choose a better estimate for the weight of an average adult man.

62

MG’ kg

@

62 Kg is the better estimate 62 g is too light

b. Choose

Q)

better estimate for the weight of house mouse

19,000 mg is the better estimate. 19,000 g is/too heav

¢c. Choose a better estimate for the weight of a plastic chair.

,/
3 kg M3g
3 glis the better estimate.| 3 kg is too heavy

d. Choose a better estimate for the weight of a coffee table.

165 kg O |5

(o]

165 kg is the better estimate. 165 cg is too light

e. Choose a better estimate for the weight of a cupcake

7
80 centigram M 80 gram

-y ol

80/gram is a better estimate. 80 centigram is too light
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